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QUESTION 1

What can an administrator configure to perform a health check for a SVC1, which is transferring HTTPS traffic so that a
probe is only sent when there is no traffic to the server?

A. An HTTP monitor with the secure parameter selected

B. An HTTP monitor with the transparent parameter selected

C. An HTTP-Inline monitor with the secure parameter selected

D. An HTTP-ECV monitor with the transparent parameter selected

Correct Answer: C

QUESTION 2

Scenario: An administrator must plan the deployment of a NetScaler system for an environment that requires:
-All traffic to pass through the NetScaler appliance(s)

-Outbound connections to the Internet from a non-routable subnet

-Two Web server farms to be load balanced by the fewest connections

All consumer web site traffic to be secured with SSL

All traffic to pass through a network firewall prior to passing through the NetScaler appliance(s)
-Fault tolerance
-Disabled traffic bridging on the NetScaler

Which three steps must the administrator take to deploy the NetScaler system correctly for this environment according
to best practices? (Choose three.)

A. Configure proxy mode.

B. Configure Layer 2 mode.

C. Configure RNAT functionality.

D. Deploy the NetScaler system with HA.

E. Enable Independent Network Configuration (INC).

F. Deploy the NetScaler system in an inline configuration.

Correct Answer: CDF
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QUESTION 3

Scenario: An administrator is managing a network environment with a stand-alone NetScaler system. The speed of the
interfaces currently being used is inadequate for the amount of traffic that the NetScaler system is managing. The
administrator needs to increase the available bandwidth on the system. The administrator also wants to add redundancy
to the interfaces for failover.

What can the administrator do to meet the needs of this scenario with minimal change to the current network
environment?

A. Configure multiplexing.

B. Configure link aggregation.

C. Create a load balancing policy for the interfaces.
D. Add a second NetScaler device and configure HA.

Correct Answer: B

QUESTION 4

Scenario: An administrator needs to configure SSL offloading on a NetScaler system. The administrator has already
enabled SSL on the NetScaler, added the necessary service and added an SSL-based virtual server.

Which three additional steps must the administrator take to complete the SSL offloading configuration? (Choose three.)
A. Create load balancing virtual servers.

B. Bind the created service to the virtual server.

C. Add a wildcard certificate to the virtual server.

D. Add an SSL certificate key pair to the NetScaler.

E. Bind the SSL certificate key pair to the virtual server.

F. Obtain an SSL certificate from an authorized certificate authority (CA).

Correct Answer: BDE

QUESTION 5

Scenario: An administrator plans to set up a NetScaler in HA mode. One of the requirements for the environment is to
ensure that traffic is handled in the most reliable way even if both nodes in HA are unhealthy or partially fail.

Which setting must the administrator configure to ensure the traffic is handled in the most reliable way, even if both
nodes in HA are unhealthy?

A. AutoFail
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B. FailSafe
C. FailActive
D. Force Failover

Correct Answer: B
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